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QUESTION 1

Which of the following are all valid types of trigger?
A. AFTER, ATOMIC, BEFORE

B. AFTER, ATOMIC, INSTEAD OF

C. AFTER, BEFORE, INSTEAD OF

D. ATOMIC, BEFORE, INSTEAD OF

Correct Answer: C

QUESTION 2

What does dsmtop use to gather metrics?
A. db2pd

B. db2dart

C. the system catalog

D. monitoring tablefunctions

Correct Answer: D

QUESTION 3

You suspect there is a communications issue between a member and a cluster caching facility (CF) in a DB2 pureScale
instance. Which command will provide diagnostic information that can be used to confirm your suspicions?

A. db2cluster -verify

B. db2cluster -cm -list -alert

C. db2cluster -verify -configuration
D. db2cluster -cm -verify -resource

Correct Answer: D

QUESTION 4
What is the main benefit of performing an ADMIN_MOVE_TABLE operation in multiple steps?

A. It does not acquire locks on the table
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B. It does not require additional temporary disk space
C. It enables the user to control when the table will be offline
D. It allows the ADMIN_MOVE_TABLE procedure to be used in HADR environments

Correct Answer: D

QUESTION 5

An HADR environment has two standby databases ?one principal and one auxiliary. What is the only mode that can be
used to transfer data to the auxiliary standby?

A. SYNC

B. ASYNC

C. NEARSYNC

D. SUPERASYNC

Correct Answer: D

QUESTION 6

Assuming no database connections exist, which of the following will dynamically change the LOCKLIST database
configuration parameter for a database named SAMPLE to AUTOMATIC?

A. UPDATE DB CFG FOR sample USING LOOCKLIST AUTOMATIC IMMEDIATE
B. UPDATE DB CFG FOR sample USING LOOCKLIST 8192 AUTOMATIC IMMEDIATE

C. CONNECT TO sample;UPDATE DB CFG FOR sample USINGLOCKLIST AUTOMATIC IMMEDIATE;CONNECT
RESET;

D. ATTACH TO db2inst1;UPDATE DB CFG FOR sample USING LOCKLIST AUTOMATIC;DETACH,;

Correct Answer: C

QUESTION 7

What is the default value of the DB2 registry variable DB2LDAP_SEARCH_SCOPE?
A. NONE

B. LOCAL

C. DOMAIN

D. GLOBAL
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Correct Answer: D

QUESTION 8

Which command will enable Explicit Hierarchical Locking (EHL) in a DB2 pureScale environment?
A. UPDATE DB CFG USING CF_LOCK_SZ AUTOMATIC

B. UPDATE DB CFG USING OPT_DIRECT_WRKLD YES

C. UPDATE DB CFG USING LOCKLIST 4096 MAXLOCKS 90

D. UPDATE DB CFG USING LOCKLIST AUTOMATIC MAXLOCKS AUTOMATIC

Correct Answer: C

QUESTION 9

For any given column-organized user table, the associated synopsis table may contain information for which of the
following data types? (Choose two.)

A. XML

B. BLOB
C.CLOB

D. VARCHAR
E. DATETIME

Correct Answer: DE

QUESTION 10

Which phase of the LOAD utility is unique to loading column organized tables?
A. LOAD

B. BUILD

C. DELETE

D. ANALYZE

Correct Answer: D
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